[N of reco track vs normalized x2 ]

| N of associated (recoToSim) tracks vs normalized x?

N of associated (recoToSim) looper tracks vs normalized x*

8 10 12 14 16 18 20
track x?

1%} F (%] F %] [%]
x L x o < x
5] r [} L 5] 5]
g . g g g
=10 = £
o 2 "
E 5 fe = 8107
P B [=%
10°F 10°F E
E E 10°
10°F 10°F
[ [ 10?
10°F 10°F
;- - 10F - 3
1 1 1 1 1 1 ° 144= 1 1 1 1 1 1 1 1 1L ot
: ks : 4 i =
o o1.05F - - & - - EFHA [hq
4 sl Ml
: ! A T : :
9924 6 8 10 12 14 16 18 20 0924 6 8 10 12 14 16 18 20 0% 10 12 14 16 18 20 0%
track x2 track x2 track x2
DQM_mKFIT_T1_base_nosel
N of reco track vs. § ———— DQM._1 man TT relraanIdFlIes v2_noSel Jyerset
g g
o ©
g B 8
= =
10° e 3
107 [y

£ el
i

ol




	Contents
	Page 1


